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 long is the line? 
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The line on the 230 model is longer than the one on the 75 model
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Measuring the world 
 
Back in the eighteen century, 

French scientists wanted to 

create an ideal system of 

measurement. To ensure that 

measurement units would 

remain the same from place to 

place, they looked for 

constants in nature to form the 

basis of a new system. At that 

time they believed the 

circumference of the earth 

never changed, so they based 

the unit of length in the earth’s 

polar quadrant. The distance 

from the equator to the pole 

was calculated and divided by 

ten million That measurement 

became the metre, the 

foundation of the metric 

system.  

 

Multiples of ten are core to the 

metric system. A thousand 

metres is a kilometer and on a 

descending scale, a tenth of a 

metre is a decimetre, a 

hundredth is a centimeter, and 

a thousandth is a milimitre.  

The litre was defined as a 

volume equal to a cubic 

decimetre and weights were 

also derived from natural 

constants. One kilogram was 

the mass of one litre of water 

at its melting point. So a 

thousand litres of water at zero 

degrees Celsius weighs 1,000 

kg, or one metric tonne. 

The international system of 

Units is the modern form of the 

metric system and its units of 

measurement are used in 

science and business around 

the world.  

 

The USA, however, is a 

significant exception. Non 

metric (imperial 

measurements) that date back 

historically to connections with 

Britain are still widely used.  

So the weather forecast tells 

you the temperature in degrees 

Farenheit and people generally 

think in terms of old 

measurements like ounces and 

yards. 

 
 

In the UK, metric 

measurement now 

dominates, but there are still 

areas of life where people 

use old imperial 

measurements. So someone 

might describe their height 

in terms of feet and inches, 

or their weight in terms of 

stones and pounds. They 

might talk about the fuel 

consumption of their cars in 

terms of miles per gallon, 

and in British pubs, people 

still buy their beer in pints. 

 

 

 

 



 
 

 
 

7 

 Aramid fibre resists impact…..
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The GT Sport accelerates a great deal faster than the Roadcaster. 

The maximum speed of the GT sport is 71 Kph faster than the Roadcaster’s. 
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 The Roadcaster´s acceleration is worse 

than the GT sport´s
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 long is the line? 

 thick is the line?

 strong us the line?

 Projectile does it use?

 far is the range?

 recoil does it have?
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a) The line on the 230 model is longer than the one on the 75 model

b) The line on the 230 model is thicker than the one on the 75 model

c) The breaking strength in 230 model is 2.000 Newtons, while in 75 model is 

1.500 Newtons

d) The 230 model has cylindrical projectile whereas the 75 model has a plastic ball

e) The 75 model has a shorter range than the 230 model

f) The 230 model has a greater recoil than the 75 model

a) France  

b) They believed the circumference of the earth never changed, so they based the 

unit of length in the earth’s polar quadrant, dividing the distance from the 

equator to the pole by ten million  

c) 1/10 of a metre  

d) 10 grams of water 

e) 1 Kilogram /  a thousand kilograms 

f) United States and United Kingdom 

g) Imperial System 

1. One over ten million 

2. 1.000 

3. 10 

4. Degrees Farenheit,  ounces, yards, Feet,  inches, stones, pounds, miles, gallon, 

pints. 
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 Aramid fibre resists impact…..

 Polyurethane foam absorbs impact

3. carbon fibre can bend 
 rubber can bend, can stretch, can’t break

5. aramid fibre can´t be broken  
 TPU can be bent

7. nylon synthetic fibre is not breakable  
 wood is burnable, is bendable
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 Waterproof

b) childproof  

c) corrosion-resistant  

d) bulletproof  

e) heat-tolerant  

f) stain-resistant  

g) impact-resistant  

h) water-resistant  

i) fireproof  

j) high-performance  

k) ovenproof  

l) Impact-absorvent  

f
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The GT Sport accelerates a great deal faster than the Roadcaster. 

The Roadcaster is a lot less economical than the GT Sport 

GT Sport is a little more stable than the Roadcaster 

Roadcaster suspension is slightly as good as the GT Sport’s 

The maximum speed of the GT sport is 71 Kph faster than the Roadcaster’s. 

Roadcaster´s engine is two thirds powerful than GT Sport´s 

GT Sport´s storage space is twice larger than the Roadcaster´s 

GT sport is 50% less expensive than the Roadcaster 



 
 

 
 

20 

 The Roadcaster´s acceleration is worse than the GT sport´s

2. The GT Sport c Roadcaster. 

3. None of them is Unstable  

4. The  GT Sport is less comfortable  

5. Roadcaster´s engine is two thirds powerful than GT Sport´s  

6. The Roadcaster accelerates one and a half times faster than the GT 

Sport.  

7. The storage space of the Roadcaster is the half of the GT Sport´s  

8. The GT sport is 30%more expensive than the Roadcaster. 


